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Introduction

This contribution discusses the corresponding and subject relationship between the PCRF and GWs.

Discussion

I suppose such ideas as the following sentences:

It is better for the GW to be subject to only one PCRF for requesting the QoS polices and charging rules. If more than one PCRFs can manage and allocate resource for the same GW, how to react between the two PCRF is tricky problem, and such a correspondence of one GW to several PCRFs will not bring us more benefit.

One PCRF should be able to responsible for more than one GWs. In general, the PCRF and the GWs belong to the same operator’s network, but with the setting up of approprate trust mechanisms between the PCRF and the GW, the PCRF also may be in charge of the GWs from other operators. One benefit from this is that, if a dual-mode UE is moving between two operator’s access network, and is accessing some service based on some session, the handover procedure occurs and the GW changes, BUT if the IP address of the UE doesn’t change, the PCRF is still able to be responsible for making policy and charging rule for the UE.

Proposal

4.2.4
Relationship between functional elements

The AF and the PCRF need not exist within the same operator's network. The Rx+ interface may be intra- or inter-domain and shall support the relevant protection mechanisms for an inter-operator or third party interface.
The PCRF can take responsibility for one or more GWs to make the QoS policies and charging rules. The PCRF and the GWs always belong to one same operator for secure reasons, but with the setting up of approprate trust mechanisms, the PCRF also can be in charge of the GWs from other operators. One GW is only managed by one PCRF.

Editor's note:
It is for further study how to handle the scenario where the GW is in the visited network.
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